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Question 1. 

Suggest any one way to solve under-employment situation in rural areas. 

Answer: 

The problem of under employment in the rural areas can be solved by setting up 

industries, schools, tourism, regional craft industry, information technology, etc 

Question 2. 

Mention any one limitation of per capita income as an indicator of development. 

Answer: 

One limitation of per capita income is that it is impossible to come out to a well-

defined conclusion about the real income of the people or nation 

Question 3. 

Through which act is Right to Work implemented? 

Answer: 

Right to Work is implemented through National Rural Employment Guarantee 

Act (NREGA) 2005. 

Question 4. 

What is the rank of India as per the HDI report of 2004? 

Answer: 

India ranked 127 as per the HDI report of 2004. 

Question 5. 

Define average income. 

Answer: 

Average income measures the average income earned per person in a given area  
 



in a specified year. It is calculated by dividing the area’s total income by its total 

population. 

Question 6. 

Differentiate between Human Development Report and World Development 

Answer: 

The following are the differences between Human Development Report and 

World Development Report. 
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